R17M5 spectral tristimulus valuesy may(A\)=1
XRr17Mm5,10)=A11l R17M5,10) +A12MR17M5,1(M)
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R17M5 spectral tristimulus valuesy may(A\)=1
XR17ms,10)=A11l R17M5,1(\) +A12MR17M5,1(A)
+A138R17M5,1(M)

2,0} Alj 2,6400 -1,3200 0,6800 A£570)
P5B:5X g 75, 1(A)=40,74

400 500 600

wavelengthA /nm

CE611-1A 1



R17M5 spectral tristimulus valuesy may(A\)=1
XRr17Mm5,10)=A11l R17M5,10) +A12MR17M5,1(M)
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2,6400 =1,3200 0,6800 A£570)

P50:5X r17Mms5,1(A)=40,36

2,0 Aqj

400 500 600

wavelengthA /nm

CE611-1A 1



R17M5 spectral tristimulus valuesy may(A\)=1
XR17ms,10)=A11l R17M5,1(\) +A12MR17M5,1(A)
+A135R17M5,1(A)
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R17M5 spectral tristimulus valuesy may(A\)=1
XR17ms,10)=A11l R17M5,1(\) +A12MR17M5,1(A)
+A138R17M5,1M)
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R17M5 spectral tristimulus valuesy may(A\)=1
XRr17Mm5,10)=A11l R17M5,10) +A12MR17M5,1(M)
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R17MS5 spectral tristimulus valuesy ma(A)=1
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R17M5 spectral tristimulus valuesymax(A)=1
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